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In this stage ‘self concept’ begins
1. Infancy

2. Early childhood

3. Late childhood

4. Puberty
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The book ‘Hereditary Genius’ is written by
1. John Locke

2 Elizabeth B. Hurlock
3. Francis Galton
4 Prof. KuppuSwamy
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Chronological age and Mental age of a student are 8 years and
10 years respectively. Then intelligence quotient (IQ) of the
student is
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A person wants to have his own home, wants to live with
others comes under this need

1. Need for self respect

2. Physiological

3. Need for safety

4. Need for love and affection
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The number of tests in differential aptitude test battery by
K. Bennet
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Pavlov’s experiments conducted on dogs come under
1. Insightful learning

2. Social learning
3. Classical learning
4, Operant conditioning
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The chairman of NEP-2020 is
1. Dr. KasturiRangan

2. Dr. D.S. Kothari
3. N.R. Narayana Murthy
4. Smrithi Irani
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Expand DIKSHA
DIKSHA Q219 @6/

1. Digital Initiative for Knowledge Sharing

2. Digital initiative for Knowledge Systems for Higher

Activities
3. Digital Intelligence for Knowledge Sharing
4, Digital Infrastructure for Knowledge Sharing
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According to NEP-2020, pattern of Education levels is
RIP1A ARG - 2020 UQQIER FVILAA AFRIT

1.

2.
3.
4

5+2+2+5
5+3+3+4
3+5+3+2
7+3+2+2

‘Manabadi Naadu Nedu’ programe is intended for

1.

2.
3.
4,

Creating infrastructure

Providing Mid Day Meal
Supply of free books and uniform
Providing scholarships to poor students
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The main purpose of NCF-2005 is

1.

2.
3.
4.

Providing information

Co-curricular activities
Enhancing computer skills
Construction of knowledge
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Right to Education Act 2009 is applicable to children in the
age group of
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&
1
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6-14 years
5-20 years
1-10 years
1-20 years
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Teacher should keep these things in mind while teaching in the
classroom

1.

2.
3.
4

Financial position of children
Individual differences

Social status of children
Physical stamina of children
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In a list of 20 multiple choice questions, a student answered 15
guestions correctly. His recognition score is
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1. 30
2. 40
3. 50
4. 60

Language development in children depends on
Heredity only

Environment only
Both heredity and environment
Neither heredity nor environment

1.
2.
3.
4.
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Example for short term memory

1. Remembering family member’s names
2. Remembering class teacher’s name

3. Remembering important questions

4, Remembering new telephone number
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Disability in doing mathematical calculations is called
FIIGR TRl @QAQIEQ AV 2! QRIAN

Dyscalculia
Dyslexia
Dysphasia
Dysgraphia

e

As per RTE-2009, seats to be allotted to students of weaker

sections in private schools are
RTE-2009 24, YIR60Q @QIRL6R @é%‘ 6961
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Howne

Sour grape mechanism is an example for

1. Displacement
2. Rationalization
3. Projection

4. Compensation
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Kiran got two jobs. He likes both of them. But he has to

choose only one. This is

1. Avoidance — Avoidance conflict

2. Approach — Avoidance conflict

3. Approach — Approach conflict

4. Dual — Approach — Avoidance conflict
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Id, Ego and Super ego are part of
1. Eric Erickson’s theory

2. Sigmund Freud theory
3. GW Allport’s theory
4, Eyesenck’s theory
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One of the following is NOT an Environmentalist
@] C1UQ FEE IACRIXRQ LB

1. W.C.Bagley (@,4.914))

2 Gordon Freeman (9@ JeIR)

3. Watson (81Q<4%)

4 M.S. Galton (N¢1.9NY. 9IMG'R)



23.

24,

The most successful style of child rearing is
Authoritative

Authoritarian
Permissive
Uninvolving

1.

2.

3.

4,
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1 Mega byte is equal to
1. 1024 bytes

2. 1024 kilobytes
3. 1024 Gigabytes
4. 1024 Terabytes
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CPU consists of

1.

2.
3.
4.

Control unit, Arithmetic and logical unit and memory
unit

Control unit, key board and scanner

Memory unit, printer and scanner

Microphone, printer and keyboard
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Slide show is a part of
Slide show ¢jQ &2°d

1.

2.
3.
4

MS Word

MS Excel
MS Power point
MS search Engine

Continuous and Comprehensive Evaluation (CCE) is proposed

by
1,

Q
1

2.
3
4

NCF-2005

Kothari Commission
Secondary Education Commission
Janardan Reddy Commission
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A boy having an 1Q of 160 comes under this category

1. Below average
2. Above average
3. Average

4, Gifted
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This is not a reason for forgetting
1. Disuse

2. Inhibition

3. Repression

4. Over reading
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Social intelligence is high in
Political leaders

Scientists
Poets
Writers
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4.
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Choose the expression that can be used to give permission
1. By all means

2 I am ok

3. A small objection

4 No, don’t take it.

How would you take your teacher’s permission to leave the
class a little early?

Choose your response from the following.

1. Don’t stop me. I have to leave early.
2 I must leave the class now.

3. | can go out of the class.

4 May | leave the class a little early?

The title of the notice should be presented in:
1. a lengthy paragraph

2 a vague manner

3. multiple colours

4 a concise and descriptive way

Choose the option that should be included in the header of a
formal invitation.

1. date and time

2 host’s information
3. dress code

4 event agenda
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66.

67.

68.

Choose the correctly punctuated sentence,

1.

2.
3.
4

Jody said, “How are you feeling, pa?”
Jody said, “how are you feeling Pa?”
Jody said How are you feeling, Pa?

Jody said, “how are you feeling, Pa?

Each of them / who visit her / has to touch / her feet.

B C D

Choose the option that has a grammatical error

1.

2.
3.
4

Choose the suffix that suits to get the adjectival form of the

A

B
C
D

word “hero”
1. in

2. ly

3. ic

4 ism

Choose the correct option that indicates the arrangement of the

words in alphabetical order.

N w N R, OO0 o>

intelligent

inequality

intolerance

integrate

B D A C
D B C A
B A D C
D A B C



Choose the meaning of the idiom ‘for ages’.

1. for doing service

2 for finishing a work

3. for a very long duration
4 for competition

| promise to your brother when | visit Lucknow
next.

Choose the correct phrase that fits the blank.
1. look in on

2 look up
3. look after
4 look out

Choose the mis-spelt word.

1. ensambles
2 awkwardly
3. ancestors
4 auspicious

Choose the option that can be used as a one word substitute
for “a person who studies the human race, especially of its
origins.”

1. a linguist

2 an omnipresent
3. an anthropologist
4 an ornithologist
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Seven had been quite upset about Mr. Nath’s gaunt appearance

and was sure that he was starving.

Choose the synonym of the word ‘gaunt’

1.

2.
3.
4

arrange
starve
unsure
sickly

The house wife searched frantically for her certificates in the
almirah.

Choose right pair of opposite words of the word ‘frantically’

1. calmly; composedly

2 desperately; peacefully

3. serenely; needlessly

4 chaotically; placidly

The doctor goes ___ to treat the patients.
Choose the option that fits the blank.

1. for hospital

2. for the hospital

3. to the hospital

4 to hospital

She may feel jealous _ your success.

Choose the preposition that fits the blank.

1.

2
3.
4

with

of

on
without
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78.

79.

Choose the sentence in which the past perfect tense is properly

used.
1.
2.

Rani:
Ravi:

She had torn her dress yesterday.

When she had come back from school yesterday, she
tore her dress.

When she came back from school yesterday, she had
torn her dress.

She had come back from school yesterday.

Why are you turning on the radio?
I (listen) to the news.

Choose the option that fits the blank.

1.

2
3.
4

have listened
am listened
have listening
am listening

The little girl wondered, “Will I be home before the TV show
begins?”

Choose the reported speech of the sentence above.

1.

The little girl asked why she will be home before the
TV Show begins.

The little girl wondered if she would be home before
the TV show began.

The little girl wondered if who will be home after the
TV show begins?

The girl asked the TV show how she would be home
after the show had begun.
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82.

83.

Second-hand books on the pavement every Saturday.
Choose the option that fits the blank.
1. are bought and sold by

2 is bought

3. are bought and sold

4 bought and sold

The United Nations __ nearly two hundred member states.
Choose the verb that fits the blank.

1. are

2. has

3. have

4 were

Choose the sentence that has an adverbial clause.

1. If you give respect, you get respect.

2 The hand that rocks the cradle rules the world.
3. Do you think that | am a fool?

4 I know you have great regard for me.

His disability came without any medical explanation.
The above sentence has nouns

1. four

2 three
3. two
4 five
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85.

86.

87.

Oh, grandpa, I’m so glad you’re not dead.
In the above sentence, ‘Oh’ is:

1. a preposition

2 a pronoun

3. an adjective
4

an interjection

He was short. He was sharp.
Both the above sentences can be combined as:

1. He was short and sharp.

2 He was short but sharp.

3. He was short so sharp.

4 He was so short and so he was sharp.

Preachers preach many good things; , many of them
do not practice what they preach.

Choose the linker that fits the blank.

1. However

2 So

3. That

4 Such

Sriram continued his batting carefully his team though

he was hungry.

Choose the phrasal preposition that fits the blank.
1. due to

2 for the sake of

3. in front of

4 in addition to
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He may come here this evening.
This sentence indicates:

1. offer

2 permission
3. compulsion
4 possibility

Read the following passage.

"In the vibrant tapestry of Indian culture, tradition weaves its
colourful threads, binding generations with rituals and
customs. From the majestic temples echoing with devotional
chants to the bustling bazaars alive with the aromas of spices,
India's essence lies in its diversity and unity. Every festival, a
celebration of harmony, every dance, a tale of ancient grace,
India‘s cultural mosaic mesmerizes the world with its timeless
beauty and depth."

Choose the metaphor used to describe the role of tradition in
Indian culture in the provided passage.

1. A river flowing through time

2 A tapestry woven with threads of wisdom

3. A mirror reflecting the soul of the nation

4 A mountain standing steadfast amidst change
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Read the following passage.

"In the vibrant tapestry of Indian culture, tradition weaves its
colourful threads, binding generations with rituals and
customs. From the majestic temples echoing with devotional
chants to the bustling bazaars alive with the aromas of spices,
India's essence lies in its diversity and unity. Every festival, a
celebration of harmony, every dance, a tale of ancient grace,
India's cultural mosaic mesmerizes the world with its timeless
beauty and depth."”

According to the passage, identify the aspect of Indian culture
that mesmerizes the world.

1. Its ancient temples
2 Its bustling bazaars
3. Its diverse festivals
4 Its traditional dances

The moon moves around the Earth in

1. 24 hours
2. 27 days
3. 59 days

4. 365 Y days
0R QAIA1 99L96a ga AIde AR AR AN

1. 24 Q4
2. 27 Q@
3. 59 @@

4. 365 ¥ Q@
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The distance between two contour lines shows

1.
2.
3.

4

The difference in temperature
The difference in vegetation
The difference in soil

The difference in elevation
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2
3.
4
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The Bio — reserves that have been included in the world
network of biosphere reserves
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The soil conservation method that helps to retain soil moisture

1. Terrace Farming

2. Mulching

3. Shelter belts

4, Rock Dam

eafIa 2IFeIq IR @ QY an VS ARG
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3. 69M9Q 6aNG

4. QR Qe

The tropic of cancer does not pass through

1 Rajastan
2 Odisha
3. Chattisgarh
4 Tripura
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The part of Himalayas lying between Satlej and Kali rivers
1.
2.
3.

4.
AQEA] B QR QQ1 Ea  ql

1.

2
3.
4

Punjab Himalayas
Kumaon Himalayas
Nepal Himalayas
Assam Himalayas

ADIQ TAIRY
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2N AR

Western disturbances come from

1.
2.
3.
4.

Arabian sea
Mediterranean sea
Red sea

Baltic sea

Q8lell G6RIw & OIQ 2lIdeld

1.

2.
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One of the following river is flowing towards West

> e

Godavari
Krishna
Narmada
Cauveri

Q¢ FlIQ AFAIRIHIER JRIES FQ1

1.

2.

6QlIRRQ1
Qal
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It is NOT a duty of traffic police

1.

2.
3.
4.
S

= oo

Regulate the flow of traffic

Filing the FIR

Inculcate awareness on road usage
Emergency medical help to the victims
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Rythu Bazars were started in our state in the year

2IF QIFYER ARG GFIA 2R FAILIRS! 9F

1.

2.
3.
4

1998
1999
2000
2001

Breeding of fish in specially constructed tanks and ponds

1.
2.
3.
4,

Pisciculture
Horticulture
Sericulture
Viticulture

JoaRI6e FHG 61Nl G FIFAIER AUIRE @GQ

1.

2
3.
4
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One of the following is NOT a natural fibre

W N

4.

Wool
Silk
rayon
linen
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103. These are NOT taken into consideration when calculating the
literacy rate

104.

1.
2.
3.

4

A
1.

2
3.
4

7 years and above
0 — 6 years
14 years and above

0 — 14 years .
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This is NOT a feature of organized sector

1.
2.
3.
4.

Health Facilities

Paid Holidays
Exploitation of Labour
Job security
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1.

2.
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Qa1 ol



105.

106.

According to 2001 census number of people have been
reported as migrants in India.

1. 300 million
2. 307 million
3. 315 million
4, 325 million
QAR 2001 REQEIR AQHIA] UL INPEQ LR

emla Q°Gl

1. 300 e
2 307 QR
3. 315 dQeQ
4 325 RO

The standard calories per day for the people living in

urban area are

QIR UEREQ QY KRR CRIRE FRTRI G286 AN
ERERQA!

1. 2400
2. 2100
3. 2000
4 1800



107. The first state that is following organic farming in India

1. Punjab
2. Kerala
3. Sikkim

4, Meghalaya
RINGEA 65G@ 98 USNIR *QeIQ AU QURY

1. agQ
2. 69Q%
3. 4d&q

4. 60K

108. One of the following is NOT an Indian Multi National

Company

1. Infosys

2. Ford Motors
3. Ranbaxy

4. Asian paints

Q¢ FUIQ QAT QZAIRIC QAR 621Q @ & QARG
1L QQezIdq

2. 6T 6519d

3. Q] QUG

4. QIR 69



109. The most abundantly available factor of production in India

1 Land

2 Labour

3. Capital

4 Enterprise

WIACER YA WIEQ QUMY VYDA R

L. @4
2. g¢
3. 98
4. Q@60

110. Belum caves are located in

1 YSR Kadapa
2 Kurnool

3. Chittoor

4 Nellore

6aQe] g¢fl \0I6Q QPR
1. YSR QG

2.  ada
3. 0gQ

4. 699Q



111. The Persian poet who was known as “The parrot of India”
1. Alberuni
2. Amir Khusrau
3. Ibn Batuta
4. Barani

“QOGA YA Q64 AREG AITAI] @Q
1L R 6T

2.  ATQYY

3. Q@R QIgel

4. QAR

112. Akbar divided his kingdom into the number of Subas
21990 GF QNG B @AY oI A°6H|

1. 15
2. 10
3. 20
4 25

113. Capital of Tipu Sultan
1. Calcutta
2. Seringapatnam(Srirangapatnam)
3. Buxar
4. Madras
g ANQIRE QURJIRT
1 aalala
2 1A
3 QI
4 AR



114. Nij and Ryoti are the methods of the crop cultivation system of
1. Jute

Indigo

Tea

Cotton
R G QAL 6228 I8 FANQ QI ARG

6116
QA6 (R1R)
Qlal
@dl

Ll - 0 B R

115. Songram sangma revolt occurred in

1. Bengal
2. Assam
3. Odisha

4, Jharkhand
6QIGf1¢] IS @6@@ OI6Q 6LIneml

1. 696N
2. e
3. G@9l

4, QRS



116. The ‘Nobility’ in France belongs to this estate in the late
18" century

1841 SIGIR1Q 64 QUGEA FIRAQ ARG Q6 YT AR

117.

118.

2SS 6N
1. 1
2. 2
3. 3
4. 4

This is NOT one of the basic principles of UNO

1.
2.
3.

4

Preserve peace

Uphold human rights
Promote Social Progress
Conservation of environment

gl @0 Q16 A°AQ 99 67109 9Q Q6%

1.

2
3.
4

Q4 €12 QR A<

AIRSS ARYRIAY AFIL *AQ
AR J9Ioq 69122 *Qa!
JAREQE LAV

British women got the right to vote in the year.

QTG ATRICNER 6RIS ZRYFRQ AR QT

1.

2.
3.
4

1921
1920
1919
1918



119. He got dictatorship by ‘Enabling Act’

1. Lenin

2. Hitler

3. Mussolini

4, Stalin

RUNTN ﬂGg: 9l RLLIRIC 2@ DIl @Y%
1.  6nER

2 IR

3. ¢eYRG

4 U

120. The member countries in UNO when it was formed
@G QIS A°a G106 62]1 ANUEQ AQY QRYR! 6QF A°GHI
200

..—\

54
56

Ll

193



121.

122.

“Telecom Revolution” was initiated in India by
1 Rajiv Gandhi

2. Indira Gandbhi

3. VP Singh

4 PV Narasimha Rao

RINBER 'CENRIF F9Q" 2I0R !GR! QYT
1L QPR G
2. QA QLT

Qe

w
D)
©)

4. J.2.903°? QUG

He played key role in integration of princely states.
1. Jawahar Lal Nehru

2. Mahatma Gandhi

3. Sardar Vallabhai Patel

4. Lal Bahadur Sastry

JIPRIe QIRNYERR IR1RAEIEQ IS RER FAIRQI QU@
1. G92IQ RN 62629

2. QQIGNNT

3. d9IQ 9RAIQ I6ER

4. QIR QLG SIY!



123. This plays a major role in get rid of stereo types.
1. Property
2. Transport
3. Laws
4, Education

JQUSD 681Q QB 6291 AR @I Y @RI 28 KRN

1L auQ
2. dQQee
3. Qe

4. &l

124. She is regarded as the “Mother of Indian feminism”
1. Pandita Ramabai
2. Durgabai Deshmukh
3. Savitribai Phule

4. Sarojini Naidu
“QAGTA FIZRIRIGR FRRT Q6d ARRG 6QIRYQI AR

1. 9490 QAIRIN
2.  QUIRIR 6Q4gY
3.  QAGQ QR g
4. QAT QG



125.

126.

127.

The scheduled castes and the scheduled tribes (prevention of
atrocities) Act was framed in

AQ9R1e QIG B AUQYLIS QAURIGR (Q°AGI FAIQE) AR
QUITE 62102<N 9F

1. 1989
2. 1990
3. 1992
4. 1995

It is NOT among the factors that protects the unity of the
country

1. Single Judiciary

2. Uniformity in fundamental laws
3. All India Civil services
4. Reservations

6Q4Q 2°2Gq 4l 6IFIRRIER @ Q@Y &°EIT
L Qe AAIee

2. &F1@Q AAREQ AQAIG!

3. YR QU 691Q6QQ

4. 2SI

The constituent assembly adopted the constitution in the year

QAP Q@I QAISY JL16 @RSl @

1. 1946
2. 1947
3. 1949
4, 1950



128. Separation of religion from the state power

1. Socialism
2. Secularism
3. Democracy

4. Fraternity
g QR 0IQ Yo} PR AAG!

1L QARSI
2. UFRQ6LIR
3. Q903

4. 6dgiIgQ

129. The dream of Dr. Martin Luther king Jr. is, ‘people should be
respected by their....’

1. Colour
2. Education
3. Character

4. Religion
ERIRAIER 18] 29I ARG 6241 QIR 69N @. AITY

QUQ @G GEAQE A e
1. o

2 Sl
3. QQQ
4. ¥4



130. This is NOT in the list of the minimum conditions of a
democratic election

131.

1.
2.
3.
4.

Everyone should be able to choose

Single party system in the country

Elections should be conducted in a free and fair manner
Elections must be held regularly

Q9ea A3lee IR QAR 6261 ASGE AGEILNER @
QEYRIG

1.

2.

3.

4.

J6oia QI3 99Q @99l IR AVF 624
6QEI6Q IR @R QLI QER
QQI0R 2Ql 8 FREAY RCS 624

GA19% Fadie Qe 6291 2N

The first state that implemented local self government in India

1.
2.
3.

4

Andhra Pradesh
Rajastan

Uttar Pradesh
Kerala

QAR IR @ SNLdg ﬁhl%l@@?g@l dael QU

1.

2
3.
4

2199694
QAFYIR
QA9 Y69
[Salata)



132.

133.

134.

Hindu Succession Amendment Act is passed in
29 ARAUYRIQ ACHRIS RS ARG 6291 @

1. 2003
2. 2005
3. 2007
4 2010

This is one of the hazardous industry that is growing rapidly in
South Asia

1. Fertilizers

2. Asbestos

3. Ship - breaking
4 Petro chemicals

QIS YJREQ 9F WER 9F AP FAAFAR dg
L Qe

2. ARV
3. dgeg@*

4.  6U6QI QLR

The Great bath in Mohenjodaro was used by
1. Royal family

2. Soldiers
3. All people
4, All women

C6R6FIQIAEQ Q2R IRIFNAY MAIER LRI *QRIEM
1. Qe QIR
2. 63dGF@qieR
3. Q02 K6l

4, A OGR!



135. He advocated that “all are equal before God”

1. Tukaram
2. Surdas
3. Ravidas
4, Kabir

VAT 2IGI6Q AFES AR 6AIR AQEIRIL 6ARYRI I

1L gelquq
2. 4e@iq
3.  QGQQ

4. Q9Q

136. It is NOT one of the ways that preached by Chaitanya
Mahaprabhu to realize the presence of God.

1. Love

2. Devotion

3. Song

4. Brahmacharya

A9eF F06a 928Q AR 65974 A2IgR AUCLH 69R3S
AISGERQ 18l IRalG 96 |

1. 699
2. Q@
3. oo

4. QLY



137. He used “Brahmi Script” in all his inscriptions

1. Chandragupta

no

Ganapathideva
3. Ashoka
4, Krishnadeva Raya

0% AL (3R MU JGR6a 'YILINT'Q LY @GR QU@
L 9499

2. Q8966

3. 26dI@

4. QU6LR QUL

138. The first king of the Magadha Kingdom
1. Mahapadmananda
2. Bimbisara
3. Ajatasatru

4, Ashoka
161 QURIQ Jale! QAU
1. 1LIdg @

2 AAIQ
3. ARSI
4 ()



139. This is NOT a fact about Aims of Social studies

1. Aims have permanent values

2. Aims are long term achievements

3. Aims emerge from objectives

4. Aims provide the direction in Education

ANFR I Y SFL 67 LR 6QARYR! YT

1L QAGEea LI Ry Qe
2. QAIYER QIERINIR Qo1 266

3. AAYER Q6RE4Q ZIRHE 62192

4. QOIGRR SNI6Q F6RERI 6AINIRAI

140. “A student used the knowledge of ‘Traffic Education’ that he
learned from his lesson”

It is one of the following learning objectives

1. Remembering

2. Understanding

3. Applying

4. Analyfing

“ @68 QIR ‘AR FAI AIOYEIQ IVNRRYR! KIFQ

A% KIgIeq UG }@GRI”

2l Q¢ SR QEREN C1-IQ 661G 26T
1.  F68dRIRR

2. 2Q6QR 624

3. 969 @<

4 Q6aE QAR



141.

142.

NCF — 2005 suggested to teach Political science instead of
Civics in this level

1.
2.
3.
4.

Primary level
Upper Primary level
Secondary level
Intermediate level

RG1A AIOIFE @IBI — 2005 AQQAI Y& A0IQ A9 FRIA
RR66 QARG THIF FVIEL ALHIR 691N ISR |

1.

2.

gleicia 2
Q@ 9I2ia 2
AlIFR 2R
QLATZAS 2R

A student observed the physical map of India and told states
through which the Godavari River passes. It is the mapping

skill of

1. Map Drawing

2. Map Reading

3. Map Pointing

4 Identifying Directions in Map

@6el

JQE QAUAEA YIPER IeEe] ADIERVE @R

691RITQ1 991 6% AL 6ea VAT FGIAR! |
2l 69Q gRIaQ FI96Q QIG..

1.
2.
3.

ARSQ Aea
AL 2R
AlIege 98¢

ARG G9l 58C



143. Secondary Education commission was formed in the year.

ARITR 91 2I6eio G0 62IRS Y

1. 1955 - 56
2. 1957 - 58
3. 1952 - 53
4 1959 - 60

144. This does not come under the scope of social science
1. Sociology

2. Political science

3. Geography

4. Physical Science

AQIFR IRIG IOAAQ 2ALHD 2R 2°ET

1. QOGS IR
2 ALNG TR
3. Q6Cle eRIQ
4 6RO QIR



145.

146.

This teaching method is based on the principles of ‘Learning
by Living’ and ‘Learning by doing’

1. Project method

2. Heuristic method
3. Experimental method
4, Lecture method

‘QBQI FIQl A’ ¥Q° ‘@I FIal IS T Y Qd6Q
2ARJIE JVNQIR 98T

1. Jeg 986
2. Y6QRIVE ARG
3. Q9I9€6I9e 986

4. Q@I UeG

National Council of Educational Research and Training
(NCERT) wast established in

RI1E SY1 G684l B gINE AG8e TS @F

1. 1958
2. 1960
3. 1961
4 1962



147. ‘Muse’ means
1 Goddess of Education
2 Temple

3. Laboratory

4

Matrices
‘NP 2L
1. QQU 6%
2. QG
3. NI
4. 496

148. One of the following is a resource of economic importance
Park
Radio station
Museum
FactoLy
¢ 1Q 2RIR JRQ QLY ARG
AR
6Q0IQ 609
L°Q LIS
@ QIR

W= O w N



149. The committee that suggested “Learning without Burden”
1. Radha Krishnan Commission
2. Sri Prakash Committee
3. Yashpal Committee
4, Secondary Education Commission

"6QIY Q1R RI'g YUIRE @QQ! KAG
1L QRIQI] @AF

2. §Igels @A

3. QR @88

4. QAR 99 *AEQ

150. Quarterly, Half — yearly and Annual examination are related to

this evaluation

1 Summative Assessment
2 Formative Assessment
3 Group Assessment

4. Diagnostic Assessment
12

AQIdQ, 26Q8a 6 QIFe A1V @ ARIIAR A2 A°Ye
266 |

).—\

L*YuslF)a 2ame
2. QORIR dINma
3. PO Aawe

4. CAQIFR 2IRRR





